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vw-wl*rlaqq,nqqfrt r
There are THREE sections in the pper A, B and C.i*n s I efl dat r * efi n wi * aar ahq t ndl; wr qo aio-r, rr
e*to vnaqfrayon*ywf*I t
Answer all the I0 parts of the question No. I in Section A. Each parr cani*
oae mark and all l0 parts hove obiective tvoe ouestiors.
Cmtoe ywisfuia ffi+"-diq?fus rmioes3 .imorlsv
g6ts drfr/s0 tCllwflfu |
Answer any 6 questions o of the E questions in Section B. Each qu*tion
carries 3 marks and to be answered within 5 lines / S0 words.lmfr*c vqqlltffie yrrl*ardfrs t y*6llvq's ,ioottsq
t46tI5 dtg/ tsL iqllsdrflfrq t
Atuwer any 1 questions out of the 6 questiorc in Section C. Each quesrion
carries E marks and lo be answered within I S lin* / IS0 words.
ed6 twl * s* ywl ol nqar s6 stE 6d &&q t
Solve all the questions ofa section consecutively topether.
<nl qvati i ad( 6h A fuh i 3iM 3EqR'0 ;4 t t
Only English version is valid in case of difierence in borh the languages.
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(c) z$*orttffi (d) a $* rfr< z mift
In a 2 stroke engine, the operation cycle are completed in how many strokes
and revolution ?
(a) 4 stroke and 2 revolutions (b) 2 stro[e and 2 revolutions
(c) 2 stroke and I revolutions (d) 4 stroke and 4 revolutions
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(ii) fc-d crqr wiz { +ro qa d-m t
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(iii) ft'rlre, &fu{s $t( c+srrc fqfuat+ FFs6 i i

The lubrication cost in a diesel power plant is

(a) 。‐

(C)  ■・ qH

(a) High
(C)MOderate

(a) +s-iTr

(c) Yrfef,6rr{

(a) Coal
(c) Natural gas

(a) H's
(c) ffif,tq

(a) base load
(c) emergency purpose

(a) ● H

(C)HЧ ・ l

(a) Low
(c) Medium

(a)ЧくHlも下f前
(c) 納 編 前

(a) Nuclear power plant
(c) Thermal power plant

(b) 引

(d) 可夢1●H

(b) Low
(d) Very loW

(b) cqrEis{
(d) lrffs

(b)Nuclear Fuci

(d) B10gas

(b) RrnA
(d) fttffiw
(b) Spillway
(d) Economiser

(b) fr6ds
(d) 3ctnti+1i{6

(b)  peak load

(d)None ofthe above

(b) Gr
(d) G)rHt(c)

(b) High
(d)  (b)and(C)

(b) fq-drIft{?i?
(d) 3qnffiin*{id

(b) Diesel power plant
(d) None ofthe above

Lignite, bituminous and anthracite are different rank of :

livy ffifua{tdh €Tqmu-aftga dzia+rfrHc0i t

Which of the following components is not a part of hydro-electric plant ?

(a)  PenstOck

(C)  Surge tank

(v) q6 rrszci5cre{ EizEs+ fdss{i avgfr t'
(a)ヽ記

“

)… 赫

A gas turbine power plant is best suited for :

(v i ) *q{ zcirfi an gqq}r dq far.ql qro t qs rd {N tcil t'

Kaplan turbines are used whenever the water head is :

(vii) frqfrfud fr n ffs {ri, fr srkoae fS erra i I

Which of the following plants has the maximum capital cost ?
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lviii; ffifua { n fq,s d?ie fr riqrfi drrrd vr& qq i I
(a) +d-d{rfrdii, (b) dl+svfrd{r
(c) c(cq5,qt{{, (d) waftgad{e
Which of the following plants has the lowest running cost ?
(a) Diesel power plant (b) Thermal power plant
(c) Nuclear power plant (d) Hy&opower plant

(ix) K* vfrsra i6r 3rFm qR irfl erft+ac ct{ {cH t, A m yrrc frrn
(a) I (b) 0
(c) @ (d) 0.1
If the base load and maximum demand of a firm are the same, then the load
factor will be
(a) I (b) 0
(c) @ (d) 0.1

(x) fefrqdrgqcilctqtdlt -
(a) qsi6c (b) qs*3rk6
(c) qs (d) r+in+l*rfi{tfi
The value of diversity factor is -(a) less than one (b) more than one
(c) one (d) None ofthe above (fxl0)

+fi{-t
Scctlon - B

2. ylErdfti$rqil(cstt z

What do you mcan by draft system ? (3)

3. rlFrfiqftq€(tftrimug]c,Ivq)rrwlftqlcrdlt I
Why are control rods used in nuclear reactor ? (3)

4. frd{rfr d{r+ $Jrm{ftF€c t

Write application of Diesel Power Plant. (3)

s. drfic{fr {ririffrffir*mor{t i
What is the function of economiser in thermal power plant ? (3)

6. ftftar$qzrtr*crcft{fos t

Write the name of different hydro turbine. (3)

7. qdcvfr 6rqq66rfrocqrqilttdrt ?

Whbt is water hammer effect in hydro power plant ? (3)

8. 3rfordcci{tsncf,rqcgef i
What do you understand by maximum demand ? (3)

9. rrMR qR {i?i? fli ttt i i
What is Base Load Plant ? 

,.*,3.
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+an-S
Sectlon - C

10. (i) coTrgftqm*g@r{ril6lsFsrd 
r

Explain the main pans ofnuclear reactor.
(iD c(crEftq€{}I-dF,nsqgrsi r

Explain types ofnuclear reactor. gx2)

I l. (i) ilcvR{?i?fr {ifdffi *3rfrr+vrq]ff pq}*+rfffrq 
r

Discuss the advantages ofusing pulverized coal in thermal power plant.(ii) ilq vft {{? * qrr{sund d asilTc arfus + qru {qsEA i
Explain the working of thermal power plant with layout diagram. (4x2)

t2. (i) +rdyrft {{, *fuSia 3i{ {srea *1 Fqrsftilqc$si r

Elplain- principle and 
^operation 

of diesel power plant with diagram.(ii) *{Rc {qq st( crerE {rl * +q gr+r *Aq r

Compare fossil fuel and nuclear fuel. @x2l

t3. (i) Tfrr€fdIfd+1 srr6'RariHr*3rnmIItsq$I$i I

Explain the choice of size and number ofgenerating units.(ii) Td rff{ + 3TrqR c( Td Fgd vR ri{r ur-qrfre,{sr hqt r

Classi$ hydro-electric power plant on basis ofwater head. (4x2)

14. (i) qefurd{ria*f{fuqr.+ld3Tris{ftdqcsrsi 
I

Explain various components of hydroelectric power plant with layout.(ii) Td f{gil IIfr €q" + srci etr 5d,nn ftfu<'r
Statc advantages and disadvantages of hydroelectric power plant. @x2l

15. fuafufuaeigrrgr{q:
Explain the following :

(i) rf,rfi6drrrd
Cost of generation

(ii) aRfrqq
Hot reserve

(iii) rfrdftqq
Cold rcscrve

(iv) srtmefrr
Average demand ex4)


